
Řešení didaktického testu z češtiny 2015 podzim: 

 
➢ 1 D 
➢ 2 A 
➢ 3.1 publicistický /   

novinářský / žurnalistický 
➢ 3.2 recenze / kritika 
➢ 4 A 
➢ 5 B 
➢ 6 C 
➢ 7 D 
➢ 8 proslulý, obětí,   

detektivovy, současnosti 
➢ 9 C 
➢ 10 B 
➢ 11.1 NE 
➢ 11.2 ANO 
➢ 11.3 NE 
➢ 11.4 ANO 
➢ 12 C 
➢ 13 D 
➢ 14.1 čtyřech spisovatelích 
➢ 14.2 dvou případech 
➢ 14.3 dvěma dětmi 
➢ 15.1 F 
➢ 15.2 A 
➢ 15.3 E 
➢ 15.4 C 
➢ 16.1 D 
➢ 16.2 A 
➢ 16.3 C 
➢ 16.4 E 
➢ 16.5 B 

➢ 17 B 
➢ 18 A 
➢ 19.1 ANO 
➢ 19.2 ANO 
➢ 19.3 NE 
➢ 19.4 NE 
➢ 20 D 
➢ 21 B 
➢ 22 zvlášť 
➢ 23.1 NE 
➢ 23.2 NE 
➢ 23.3 NE 
➢ 23.4 ANO 
➢ 24 B 
➢ 25 B 
➢ 26 A 
➢ 27.1 NE 
➢ 27.2 NE 
➢ 27.3 NE 
➢ 27.4 NE 
➢ 28.1 A 
➢ 28.2 E 
➢ 28.3 B 
➢ 29.1 Karel Čapek 
➢ 29.2 R.U.R. / Rossum's    

Universal Robots 
➢ 30 C 
➢ 31 D 
➢ 32 D 

 
 


